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1. SMIR YT & 3FIOR dUl & fagd ¥ | aiiiifad -

A TG w8 B. ol W@l g

C. FOIETAS D. IEdT
2. HH-Y e A WY -

A HEO B. THEHR

c. R® D. AR
3. fofafed & § yiadre 99 T @ -

I B. TH

C. o D. dR

4. URYIES T BT Y TE 8 -

A. 31 B.

C. Ci D. q
5. fobd fasheu & 3T sz &1 a1l T3l & -

A SREU B. Usdferd

C. HATHAD D. 3WRE

6. HH-IIUscdgdg -

A Y1 B.

A B B. AR

c. T D. faftA
8. TomrgAfy e H T B -

A O B. U

c. g D. 3[fg
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10.

11.

12.

13.

14.

15.

16.

FY TG B IUYad [T § -

A Th

C. fod

TR UG § -
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C. dolaal
frofafed o 9 Oieg ss 8—
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A DS AU HA GG |

C. USI-gIAs e Wi sra

froferied & & gfceT wreg 83—
A, o

C. Had

agsife T el 8—

A TaG

C. QRIHH
fFraffed & 3 IRt es 8—
A fem

C o

for <reg o IUM Ugad g3 56—
A g

C.  =ifer

BC-24-FMA-PS

Fed

IEBINR)
HAA!

Y HAH DI MAAR! | G G |
Hs AU MW/ E |

g

qgdl

Page 3 of 28



17. U dgeY HT IaIeI0 g—
A T B. oA
C. Xgud D. BUldd

18.  Ho WR g a—
A T B.
C E] D

19, oM WY 9 &1 1eg —
A faug B. dUIdg
C. HR D.  3fUlfd

20. frfoRed & & yerRfed 2ss 6—
A  YAQ B. Wifg®
C. UPm D. fre™

21.  Fill in the blank :
Shanu finished the lunch ................
A.  fastly B. quickly
C.  present D.  tastily

22.  Fill in the blank
After reading the whole story yesterday, Sanjay ........... to know that the king
was very brave.
A.  have B. come
C.  have come D. came

23.  Fill'in the blank :
My SiSter ......ccocceevnueneee. singing when | reached home:
A.  have already started B. has already started
C.  had already started D. already starts
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24.  Fill in the blanks:
It's @ .o remark which .................. became a serious issue.
A.  crude, have B. usually, casually
C.  casual, gradually D. often, regularly
25.  Fill'in the blanks :
My brother caught me ................... the hand and dragged me forward.
A. by B. in
C. of D. from
26.  Fill in the blank:
Puneet .....cccceevvvienee. an educated girl.
A.  ismarry to B. have married to
C. ismarried to D. marry to
27.  Fill in the blank :
The watchman prevented me ........... entering the building.
A.  from B. to
C. for D. with
28.  Choose the correct active form of the following sentence:
Food had been served to us before the sunset.
A.  They served food to us before the sunset.
B. At the sunset they served food before us.
C. They had served food to us before the sunset.
D.  We were served food before the sunset.
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29.

30.

31.

32.

33.

34.

Choose the correct indirect form of the following sentence:-

Meena said, “Bravo! We have done well.”

A.  Meena exclaimed that Bravo had done well.

B. Meena cheered Brave that he did it well.

C.  Meena paised Bravo for doing well.

D.  Meena applauded that they had done well.

Which of the options has incorrect spelling:

A.  Commend B. Approximet

C. Resemble D. Ninety

Which of the following sentences is grammatically correct:-

A.  They cut very much jokes. B. | ordered a few sandwiches.
C. Iboiled a few milk. D. She made a little cakes.

Choose the appropriate antonym of the given word:

Cunning
A.  Crafty B. Guileful
C.  Gullible D. Comic

Choose the appropriate antonym of the given word:

Affirm
A.  substantiate B. verify
C. deny D. aver

Choose the appropriate one word substitution:

That which cannot be effaced
A. affable B. affordable

C. indelible D. Delicate
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35. Choose the option that indicates the right match:

(a) river (i) fly

(b) bird (i) shine

(c) man (i) walk

(d) light (iv) flow
A.  a-l, b-ii, c-iii, d-iv B. a-iv, b-i, c-iii, d-ii
C.  a-iv, b-iii, c-ii, d-i D.  a-l, b-iv, c-ii, d-iii

36. Chose the right option to indicate the odd out:-
1. SCISSORS :  CUT
2 TEETH . CHEW
3. SIGHT : SCENE
4

LEGS : WALK
A. 1 B. 2
C. 3 D. 4

37.  Fill in the blanks:

The new typist is ......cccc........ VAV A be given independent charge.
A.  too..to B. o J that
C. too..as D. SO .o as

38. Choose the right option to complete the sentence and make the conversation
meaningful ,

Mehar : Have a look at your watch. The meeting is almost over.

Manu : It's horrible traffic out there. | am really sorry.......
A.  for being so late today B. to not reaching in time

C.  for reached too late D.  with hardly reaching
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39. Indicate the part that contains an error :

(a)l faced a horrible situation, (b) despite of my best efforts (c) the members of
the team (d) were not giving their best.

A. a B. b
C. C D. d

40.  Match the following part of speech :

List-1 List-1l
(a) Absence () Verb
(b) Wooden (i) Adverb
(c) Tow (i) Adjective
(d) Greatly (iv) Noun
A. a-iii, b-ii, c-i, d-iv B. a-i, b-iv, c-iii, d-ii
C. a-ii, b-iv, c-i, d-iii D. a-iv, b-iii, c-i, d-ii

41.  The first political experiment in liberal democracy took place in which country?

A.  Germany B. France
C. ltaly D. Great Britain
3eR didbds B Ugdl Jel-iidd T fobd o=1 § g3
A o B. WY
C. gedl D. e fereH
42.  Which place on the Coromandel Coast had trade links with Southeast Asian
ports?
A.  Calicut B. Masulipatnam
C.  Mangalore D. Paradip

BHRFSA dc W v RIM HT GIa01 gd TRATE S6T61 & 61 IR HaY UT?

A.  PIdidbe B. TYfeusH
C. TR D. URIEY
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43. The Hirakud project was built in which river basin?

A.  Indus B. Mahanadi
C. Ganga D. Ravi
BRIHS URANSHT fbd Tt SR # &1 18 i

A Ry B. HgMal
C. Tm D. @l

44.  Following are the cash crops grown in the area of Ganga-Brahmaputra basin-

A.  Sugarcane and tea B. Coffee and jute

C.  Coffee and tea D. Sugarcane and jute
T-5IYS 9 & &3 | 378 S arelt Ahd] By Fafifed &
A THT SR AE B. B! 3R IC

C. IR TN D. 4T 3R e

45. When countries of Europe came together to form the European Union, the
head quarter was selected in which City?

A.  Brussels B. Paris
C. London D. Zurich
e QRIU o o= R 9§41 o ol Tes A1 3M1¢, df garad fobd ek 1
ar?
A A B. URw
C. ded D. SgRE
46.  Which of the following is a an example of coming together of federation?
A. India B. Spain
C. USA D. Australia
frafoid & B 91 T9 & TP 1Y 3 BT TP I3 3
A HRd B. T
C. Juuu D. 3fieferan
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47.  Which body officially banned wall writing by parties during elections in India?

A Parliament B. President
C. Election Commission D. Comptroller and Auditor General
(CAG)

fora TRIT 3 YR H FATEl & SR Wfeal gRT SR aad R SIGING dR R
fcreiey < fear?

A,  Ydq B.Trgtrﬁf

C. IHId N D. e Td Al wRigd (e
48. Coal and natural gas are examples of what type of minerals?

A.  Non-metallic B. Energy

C. Ferrous D. Non-Ferrous

BRI 3R UTpfae 19 fbg UHR & TS & I 82

A IR-UfE® B. el

c. drE D. 3fdig

49.  Which of the following industries are owned and operated by the producers

or suppliers of raw materials, workers or both.
A.  Cooperative Sector Industries B. Heavy industries

C.  Light Industries D. Public Sector Industries

fFufafad @ @ o9 T I F1 Wit 3R I91ad & O7d & SdIgHh] aT

Mqfcearatstl, st a1 g & U™ g
A TEHRI &F B I B. HRYIENT
C. b 3N D. I &5 & IENT
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50. Which of the following statements are true about the federal system of
government?

A.  Federalism is a system of government in which the power is divided
between a central authority and various constituent units of the
country.

B. In federalism, there is usually more than one level of government for
the entire country.

C. Infederalism, there will be a government at the level of provinces or
states that look after much of the day-to-day administering of their
state.

D. All of the above.
fFufafad & T o9 91 YT IR Bt THg YUTelt & IR § I 872

A IYdle PR P Th Yuliall g Forad Wfed T e UIfeieor 3R S
P! fafie uedh gp1sal & o fauIford gidt g

B. Judlg ¥, 3MHAR W N SV H WHR FT TH T 3% WR gl g

c. Tydic H Yidl a1 Iedi b TR R Teh IIBR gIN Sff 310 T & feA-
yfafea & STl U &Y STHTA S|

D. SWiad g4t

51. India’s first Himalayan Air Safari was recently launched from which Indian

state?

A. Himachal Pradesh B. Uttarakhand

C. Ladakh D. Jammu and Kashmir
HRd P! Ugelt fgHTTI TR BRI 8Td ot H fbd HRA IT ¥ did ot s A2
A feAm@ uew B. IWTS

C. e D. SR 3R HIHR
52.  Which ministry has launched the ‘Bhoomi Rashi Portal'?
A Ministry of Agriculture B. Ministry of Rural Development
C Ministry of Education D. Ministry of Road, Transport and
Highways
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forg Tiaea 3 yfty iy oder df= fear 82

A DY HACET B. UTHIUI {dhT HATe

c. ey darem D. TS®, URag 3R ISHNT HATAY

53.  Where is the headquarters of the Theosophical Society (TS) located?

A.  West Bengal B. Odisha
C.  Tamil Nadu D. Kerala
e TRmd (€10Y) &1 JOIad Hel (Ud 82
A Ui §IA B. Sfifg=m
C. dfferg D. Ixd

54.  Which state launched the ‘shared school bus system’ and agriculture response
vehicle scheme?

A.  Assam B. Mizoram

C.  Punjab D. Meghalaya

o XToT = T THd S YUl 3R S Uffehar g arerT & B1?
A 3| B. foeIRA

C. UdE D. HUd

55.  What is the name of the cluster of digital solutions like Aadhaar, UPI, Digi
Locker, Co-Win, GeM, and GST?

A.  India Stack B. Digi Bharat

C. Bharat e-platforms D. e-Bharat

YR, JUTTE, fEolt AldR, H1-fa7, Sheud iR Siuwd! o feforea qamemi &
TqHE &I -4 F1 82

A SEUTR® B. oot yRa

C. YRdS-WchiH D. $-YRd
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56.  For the first time in football history, which country initiated ‘white card’ in a

match?
A.  Brazil B. Portugal
C.  Argentina D. United Kingdom
Gedld 3iaer J Ugah aR, [y ¢=1 = foddl B9 1 'R15e B18' & Y33 D7
A SId B. Jaid
C.  SfoicH D. gArecs fhren
57.  Which countries are the hosts of Al (Artificial Intelligence) Safety Summit in
20247
A.  Japan and South Korea B. South Korea and France
C. India and Sri Lanka D. Japan and France
58. 2024 H Al (SMMEThTRIEE Seferela) YRam RRER e & A9e 19 4 G 57
A STYH 3R Sfa SiRkan B. &MU HINAT 3R i
C. HRd 3R did® D. UM 3R Wi
59. Kill switch’, which was seen in the news, is associated with which disease?
A, HIV B. Diabetes
C.  Cancer D. Covid-19
fora fRerar, S et & am o, for o) & Heifda 82
A, TI3MTRdl B. WYUg
C W D. HIfds-19

60.  Which space organisation, has announced its plan to launch its first X-ray
Polarimeter Satellite (XPoSat)?

A ISRO B. NASA

C. ESA D. JASA
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fhg siafver e 3 3041 Ugdl Tag-X TiATRHIeR Acdarse (XPoSat) Al B

P! IS P IO BT 2
A I B. I
C. 3UHU D. ST
61. It was Sunday on January 01, 2006. Then the day of the week on January 01,
2010 was-
A. Monday B. Tuesday
C.  Thursday D. Friday
TS SHAX! 2006 DI IAAAR AT | 9 TH S, 2010 DI GGG BT HIF A fad oT -
A HHAR B. WIAR
C. IRdR D. X[hdR
62. If P means x, R means +, T means =+ , S means - , then the value of

18T3P9S8R6 is :-

A 1/3 B. 58

C. 46 D. 52

gfe P &1 AJAd x, R BT AJA +, T BT I = , S BT AJAT -, d9 18T3PIS8R6
HTHAS -

A 1/3 B. 58

C. 46 D. 52

63. Ram is the brother of Preetam. Amar is married to Reema. If Aman is nephew
pf Preetam, then Ram is related to Reema by -

A. Mother-in-law B. Father-in-law

C. Son-in-law D. Daughter-in-law

I, W &1 i 8 | 3mF & At AT g2 © | TS 30 UidH &7 Wellon ¢
I, 391 9 oy e g § -

A NN B. 9}

C. oR D. Ta
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64. In a class of 35 students, Ram is placed seventh from the bottom whereas
Meenal is placed ninth from the top. Kareem is placed exactly in between two.
Ram'’s position from Kareem is —

A9 B. 13

C. 10 D. 15

35 g Bl HT AT R A 7 IR RE B HTAISWRIITRIARE |
RASTEA ST | deIH P RN HIT IR -

A9 B. 13
C. 10 D. 15

65. A clock is set right at 8 AM. The clock gains 10 minutes in 24 hours. The true
time, when the clock indicates 1 PM on the following day, will be-

A. 12:40 P.M B. 12:43 P.M.

C. 12:46 P.M. D. 12:48 P.M.

Uh IS Y8 & 8 Il Uc B T § | G931 24 B W 10 e 9¢ Sl €1 91 3RTa
AT H 1pM B3 79 39 TH TS THT AI-

A 12:40 P.M B. 12:43 P.M.

C. 12:46 P.M. D. 12:48 P.M.

66. In geometry, Pentagon has

A. 3 diagonals B. 6 diagonals
C.  5diagonals D. 4 diagonals
A §, days o -
A 3fdpuig B. 6fdwuig
c. s5fawuig D. 4fauig
67. If BUILDING is coded as 41527596 and RIVER as 85308, then BRIDGE is coded as —
A. 485067 B. 46754
C. 476085 D. 485760
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IfE BUILDING T 41527596 9 I a1 § 94T RIVER BT 85308 T | d9

BRIDGE &1 19 O TfTd il -
A. 485067 B. 46754
C. 476085 D. 485760

68.  The missing number in the following diagram is —

11 23
? 35
A. 45 B. 47
C. 49 D. 53
o o 7 srquiRia S g -
11 23
? 35
A. 45 B. 47
C. 49 D. 53
69. In which of the following triangle, centroid and orthocentre are coincident?
A.  Equilateral triangle B. Right angled triangle
C.  Isosceles triangle D. Scalence triangle
T A PH G B & Foe dUT dedbsd U Iy aqd 8 2
A gHATg BYye B. HHHIU AYS
C. YHfgarg Bys D. fawgarg Ay

70. A construction Company employs 300 men to build a building in 24 days.
After 10 days, it got 50 more men to work. In how many days will the
remaining work be completed-

A. 10 days B. 12 days

C. 14 days D. 16 days
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TS I HREMT 300 Tfddd! &I Th HaH S & [T 3@t § off B 34
24 & B §1@ | 10 T 91€ 50 fad SR HTH R IS ¢ | 99 9 §¢ M

B QB A faett fa @t |
A 10fed B. 12fH
c. 14f D. 16fea

71.  Which of the following enzymes is not present in the human stomach?
A.  Pepsin B. Hydrochloric acid
C. Mucus D. Trypsin
frafafed & @ 3 91 torgH A4 U § AiNg el /7
A OfRE B. BrRoladN® RS
C. o™ D. fefdm

72.  Name the fabric which is used in making bulletproof jackets?
A.  lIron B. Aluminium
C.  Steel D. Kevlar

3Y HUS HT A1 Fd15T forIeT ITANT oleyw Sdbe a1 H far irdr |2

A gl B. 3fegHifAgw
C. 3sWd D. HawR

73.  Which layer of the atmosphere contains the ozone responsible for the
absorption of UV (Ultra-Violet) light?

A.  Stratosphere B. Troposphere

C.  Mesosphere D. lonosphere
IgHSH Pt fhg TRa & UV (3IeTT-aRIdIe) UHTY & SN0l & fag SdeR
3fISTH gl 87

A WRPER B. &y Hsd

C. HRIRBRR D. v &
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74.  Which of the following is not a measure of sustainable water management?

A.  Preventing leakage from dams B. Reducing the rate of surface run-
and canals off water.

C. Preventing loss in the municipal D. Building small reservoirs in place
pipes of a few mega projects

fFufaRad & @ oF fedrs od Uy &1 SUr 781 82
A TN IR ARIE@HIAGT B, Tde! od Pl & DI HH HAT

C. RUIc®T Uigyl H gH aral D. $© So! URISHIS & RIF W
B Dl JAHT| B SarRml o1 fHHfun

75.  What are the numbers of biodiversity hotspots in the world?

A 18 B. 28
C. 32 D. 36
3y & Sig fafaedn gicwure o) T fran 82

A 18 B. 28
C. 32 D. 36

76.  Which of the following is the correct sequence of body parts in the human
alimentary canal?

A.  Mouth-->0esophagus-->large intestine--> stomach-->small intestine
B. Mouth -->oesophagus-->small intestine-->stomach-->large intestine
C. Mouth -->oesophagus-->stomach-->large intestine-->small intestine

D.  Mouth-->o0esophagus-->stomach-->small intestine -->large intestine

fafiRed & 9 & 91 94 SMER AT & TRR & 371 &1 ! 4 67
A T --> TN -> F8I 31id --> UT --> BIT 3fd
B. g --> UG --> BICT 3ffd --> UT --> FS1 3fid
C. Hg--> Ial --> U< --> Fa 3ffd --> Blet 3fid
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D. Hg --> Ul --> UT --> BICT 3id --> Fo! 37

77.  Which of the following statement about LED (Light Emitting diode) is correct?

A.  Fast action B. Low operational voltage
C.  Short life span D. Both AandB

LED (drge U srats) & aR # fuferiad & 9 &9 91 sy I8l 82
A Ol ¥ B BT B. W URTIH dlecdl

C. S Siad 3fafy D. ASRBGHI

78.  What is the name of the hormone secreted by gonads in the male
reproductive system?

A.  Estrogen B. Testosterone

C. Progesterone D. FSH

T3 TS o B S-Uidl gRT H1fdd gTHI &1 ol 19 g2
A TEISH B. CWRCIM
C. UIORKRH D. THUHTH

79.  As per Bureau of Indian Standards (BIS) for drinking water acceptable limit for
total hardness as CaCO3 is :-

A. 100 mg/l B. 200 mg/I
C. 300 mg/I D. 500 mg/I

UH & Ut & ot URA A &R1 ((1S180d) & AR $d HoRdl & [ad
Wit dHT CaCo3 3-

A. 100 farefiama/citeR B. 200 frefiumA/ciier

C. 300 ficium/dieR D. 500 firettom/efieR
80.  Which gas is most abundant in the Earth’s atmosphere?

A.  Nitrogen B. Oxygen

C.  Carbon dioxide D. Hydrogen
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gt & argHed H DI T 71 Haiite TR e H 82

A, IScIeH B. SfiRilo
C. a1 SRIANSS D. BIESISH

81.  Which of the following airport is not located in Himachal Pradesh?
A. Jolly Grant B. Bhuntar
C. Gaggal D. Jubbarhatti
frafied & 9 & ¥ foam-oa+ ®id feamd vew d Ra 6 © |
A. S B. YR
C. TS D. JesSaet

82.  Hari Har Rai temple is located at
A Mandi B. Kullu
C. Kangra D. Chamba
BRER I AR gl RUd & -
A. Tl B. Pl
C. HITST D. 4T

83. Name the State Bird f Himachal Pradesh ?

A Jujurana B. Monal
C. Bulbul D. Asian Koel
forTae USRI & Ioauel BT AH R 2
A. RMT B. T
C. qaqd D. TRIE SIad
84.  Which one of the following is the highest motorable tunnel in the world ?
A Jawahar Tunnel B. Atal Tunnel
C. Barog Tunnel D. Pir Panjal Tunnel
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fafiyd & ¥ & I IR & 9eY S 18- 9o I T g ?

A. SATER G B. 3 T

C. CEIUESl D. UR UeiTe g1
85.  What is the Sanskrit name of Ravi River ?

A Iravati B. Vipasha

C. Shatudri D. Kalindi

7t Tt BT TP U H T AT @ ?

A SRadt B. ferar=m

C. BIGE] D. EIIREH
86. Who opposed the name “Himachal Pradesh” during its formation?

A. Himalyan Hill States Sub-Regional Council.

B. Shimla Prajamandal

C. Bushehar Praja Mandal

D. Dhami Prempracharini Sabha

TeHTad UeRT AT &1 {1y 39 faiur & ww fovem e 2
A. feameraH fed Wod 9e-Remd SI3fRid

B. IMERIR SIS

C. R USHSA

D. YTHT O gl g1

87. The book “History of the Mandi State” is written by?

A. Shanta Kumar B. Yash Pal

C. Lal Chand Prarthi D. Man Mohan
TR 3iTth g Hat ¥ e Yae fhaq fordt ?

A QAT PHR B AT

C NISEEER D 7 HigH
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88.  Given below are two statements:

Statement I: Kugti Pass connects the Bharmour region of district Chamba &
Lahaul Spiti region.

Statement-Il: Ravi River receives water from Dudhon glacier.

In the light of the above statements, choose the most appropriate answer
from the options given below:-

A. Both Statement | and Statement Il are correct.

B. Both Statement | and Statement Il are incorrect.

C. Statement | is correct and Statement-Il is incorrect.
D. Statement-I is incorrect and Statement-Il is correct.
A fRu U A B B -

HYT 1: P &1 1o aal & HRAR &7 G AleId WA &3 Bl Sheal g |

HY 2: I e BT U e ferEs J I |

IR HYU & MUR WR =1 faU 7T fabedi T @ Iferd IR &1 g & |
A BYT1ARBYT2GHI TR 6 |

B. HYT 1 AR BYT 2 SHI T § |

C. HYT 1 I g IR BYT 2 A § |

D. HYT 1 TTAd g IR PYT2 TG § |

89. Arrange the chronological order of the following Governors of Himachal
Pradesh:

1. Acharya Devvrat
2. Virender Verma
3. S Chakravarti
4

. V.S. Rama Devi
A 2, 3, 1, 4
B 2, 3, 4, 1
C 3, 1, 2, 4
D 3, 2, 4, 1
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feaTae U= o Y IsquTel Dl BT Ad v U Tafyd & -

A. 2, 3, 1, 4
B. 2, 3, 4, 1
C. 3, 1, 2, 4
D. 3, 2, 4, 1

90. Arrange the Districts of Himachal Pradesh on the basis of its density of
populations into increasing order:

1. Kangra
Mandi

2
3. Hamirpur
4

Shimla
A 1, 3 4, 2
B 4, 2, 3, 1
C. 4, 2, 1, 3
D. 2, 4, 1, 3
e uexr o g fordl &1 S-Rie 9 §6d oH H Jdd :
1. BITST
2. TSt
3. gARR
4. TRree
A. 1, 3, 4 2
B 4, 2, 3, 1
C 4, 2, 1, 3
D 2, 4, 1, 3

91.  Match list | with List Il
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List-1 (King) List-II (State)
a. Anand Chand l. Mandi

b. Laxaman Sen Il. Bilaspur
c. Joginder Sen lll. Baghat
d. Durga Singh IV. Suket

A a-ll, b-IV, clll, d-I
B) a-M, b=V, cl, d-I
©a-1, b=l clll, d-IV

D)y a-Il, b=IV, c d-ll

Tail- 1 61 Gail- 2 F e -

-1 RTSM) -2 ()
a. Mg dq | Hat

b. TEAA T I1. feremIgR

c. SN 9 III. e

d. g i IV. gobd

(A) a-Il, b-IV, clll, d-I
B) a-lll, b=V, cll, d-I
@ a-1, b=, clll, d-1V
D) a-I, b=IV, cl d-ll

92.  Match list | with List I

List-1 (valley) List-1l (Location)
a. Baspa Valley |. Lahaul & Spiti
b. Pin Valley ll. Mandi

c. Balh Valley 1. Kinnaur

d. Tirthan Valley IV. Kullu

(A) a-ll, b-IV, clll, d-I
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B) a-ll, b-IV, cll, d-I
@a-1, b=ll, clll, d-1V
D)a-I, b=IV, cl d-ll
Tail- 1 1 Gl- 2 9 fieE & -
11 @) -2 ()
a. ST Ut l. ?I@?[QH?C?[
b. O @it Il Hl
c. 9dg 9 . faiR
d. diq ardt V. ed
(A a-Ill, b-1I c-IvV, d-l
B) a-IvV, b-Il, c-I, d-ll
Q@ a-IvV, b-lIl, clll, d-I
D) a-M, b-1 cll d-IV
93. Who was the first Lokayukta of Himachal Pradesh?
A.  Justice RB. Mishra B. Justice P. C. Balakrishanamenon
C.  Justice Bhawani Singh D. Justice T.V.R. Tatachari
ferrad Uex & Ugd diergad B o2
A O SR, s = B. <Ofc Ut ST
Adl 3R, e
C. O Har Rig D. =rdfd ¢.at. 3R, TaERt
94.  Which lake is the source of Parbati River situated at the elevation of 4116
meters?
A.  Sukhsar Lake B. Suraj Tal
C.  Suryolsar Lake D. Mantalai Lake
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4116 Hex Bt Fas R UG o1 4t 3itd URed 7 &1 9id 872

A W A B. RS drd
C. ARR 3 D. HFddTR 3d
95.  Una was a part of which district before the merger in Himachal Pradesh in
1966-
A.  Ambala B. Hoshiarpur
C.  Gurdaspur D. Kangra
1966 H foAT=d H faerd & ugel ST fob forel o1 fgam ot
A, 3fdrer B. BIRMIRYR
C. TRGNR D. &Sl
96. Who conceived the idea of famous 'Nalwari Fair’ in 18897
A.  W. Goldstein B. D. Ochterlony
C.  Harry Smith D. Henry Hardinge
1889 ¥ URYg adre! A" &I Heu frgq &t oi?
A &g MEEH B. Sl 3facxdl
c. TRy D. &RIBIET
97.  Who is the writer of 'Kulgeet of Himachal Pradesh University'?
A.  Prof. AD.N. Bajpai B. Prof. Rajindra Mishra
C.  Deptt. of Music, HPU D. Prof. Yash Pal

Termaa uew fayfaarad & garlid & du® &H 82

A U USLTEA. g B. TN fors Ay
C. feoUo fayfaemead &1 gid D. UL gy urd
faHmT
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98.  On 1% November, 1966 when Punjab State was reorganised, ‘Nalagarh’ was
merged in which district as one of the tehsil?

A. Solan B. Mahasu

C. Shimla D. Sirmour

1 7R, 1966 DI Tq USITd T T G156 gafl, ol FIaTe I Th dgaid &
&0 ¥ forg forel o foreman e

A e B. HEN
c. fRmen D. RRAR
99. The 'Battle of Aliwal’ was fought between which forces in the year 18467
A.  British and Gurkhas B. British and Sikhs
C.  Sikhs and Gurkhas D. British and Mughals

Iy 1846 T '3reildTd 1 Zg' fobet A1SHT & ofld AT 7T UT?
A U SR TR B. il ok Rra
c. 93k iRa D. 3R 3R I

100. Which river divides Sirmaur District of Himachal Pradesh into two almost
equal parts?

A. Giri B. Tons

C. Markanda D. Bata

B G 7} Rurad e & RRAR 53 &1 T &) sRTeR U & fauTiia e
87

A R B. T

C. URbSl D. dIcl

* ok ok kK K K
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12.

IMPORTANT INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET CONTAINING 100 QUESTIONS IN ENGLISH & HINDI
LANGUAGES DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGE(S) OR
ITEM(S), ETC. IF SO, GET IT REPLACED BY A COMPLETE NEW TEST BOOKLET OF
THAT SERIES.

You have to mark / encode all your responses / answers ONLY on the separately provided OMR
Answer Sheet. Read ‘Instructions for filling the Sheet’ printed on this sheet.

Before you proceed to encode the answers of the questions given in the Test Booklet on the OMR
Answer Sheet with blue or black point ball pen you have to fill your Roll Number, Application No.,
Booklet Series, Name of Paper, Code & Examination Centre in the rectangle boxes provided in
OMR sheet.

Please note that it is the candidate’s responsibility to encode fill in the Roll Number, Test Booklet
Series (A / B/ C/ D) and Application No. carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet with blue or black ball point pen. Any error detected in
the scanned data of the Answer Sheet due to wrong encoding of either Application No. or Roll No. or
both by the candidate, his/ her Answer Sheet shall not be evaluated and shall be rejected straight
away.

Each item / question of the Test Booklet comprises four responses (answers). You will have to select
the correct response / answer which you want to encode on the OMR Answer Sheet. In case you feel
that for the given question there is more than one correct response / answer, mark the response /
answer which you consider the best. In any case, choose ONLY ONE response / answer for each item
/ question & encode accordingly in the sheet. All items carry equal marks.

After you have completed filling in all your responses on the OMR Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Original Copy of the
OMR Answer Sheet. You are permitted to take away with you the Test Booklet & Candidate’s Copy
of the OMR Answer Sheet.

Sheet(s) for rough work is appended at the end of the Test Booklet.

There will be negative marking for incorrect answers (as detailed below) for all objective
questions:

(a) There are four alternatives for the answers to every question. For each question for which a wrong
answer has been given by the candidate, one fourth of the marks assigned to that question will be
deducted as penalty.

(b) If a candidate gives more than one answer, it will be treated as wrong answer even if one of the
given answers happen to be correct and there will be same penalty as above for that question.

(c) If aquestion is left blank i.e. no answer is given by the candidate, there will be no penalty for that
guestion.

(d) Where there will be two correct answers instead of one correct answer out of four options of a
guestion, all those candidates who will encode any one of these two correct answers will be
awarded marks allotted to that question.

In case of any discrepancy found in English and Hindi versions of the question, the English version
may be treated as correct and final.
No marks shall be awarded for scrapped questions.

‘ USE OF MOBILE PHONE OR ANY COMMUNICATION DEVICE IS BANNED IN THE EXAMINATION

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE NOT AKSED TO DO SO
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